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QUESTION 1

A vSphere cluster running a virtual machine with VMware HA and DRS enabled in fully automated mode is experiencing
a catastrophic host failure.

Which action can the administrator expect DRS to take?

A. It will move the VM to a host on a different cluster with enough resources after the HA rstart.
B. It will pro-actively move the virtual machine to a different host.

C. It move the VM to a host in the same cluster with enough resources after the HA restart.

D. It will pro-actively move the virtual machine to a different cluster.

Correct Answer: C

QUESTION 2

An administrator has noticed an increase in network latency when powered-off virtual machines are migrated.
Which VMkernel adapter can the administrator use to reduce this latecy?

A. vSAN

B. vSphere Replication

C. Provisioning

D. vMotion

Correct Answer: D

QUESTION 3

A vSphere operator can only configure up to two virtual CPUs when deploying a new virtual machine (VM). Refer to the
exhibit:
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What is the cause erf this situation?
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A. VMs support a maximum of 2 CPUs.

B. The selected cluster is not in DRS mode.

C. The selected ESXI host has only 2 CPUs.

D. The compatibility selected is "ESXi 6.5 and later".

Correct Answer: C

QUESTION 4

Which software-defined, object-based storage solution provides shared storage for vSphere clusters without using
traditional external storage?

A. ISCSI
B. VSAN
C.NFS
D. vwwOLS

Correct Answer: B

QUESTION 5

Which configuration setting ensures that virtual networks on a virtual switch are isolated from each other?
A. Port ID

B. Network Label

C. Security Policy

D. VLAN ID

Correct Answer: D
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